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A. Answer the following questions by choosing the correct option: 1x15=15
1. …………… is one of the types of Total War.
i.War of Words ii. Political War iii. World War I iv. World War II
2. Who defined war as “ an armed conflict between two independent political units…”
i. Stalin ii. Hartmann iii. Morgenthau iv. Makinowaski
3. …………. is a condition of no war and no peace.
i. Cold War ii.Political War iii. Preventive War iv.Proxy War
4. Cold war is a ………… battle between USA and USSR.
i. convertible ii. budgeted iii. Soft iv. Vested 
5. Cold War lasted for ………. Years.
i. 43 ii. 45 iii. 48 iv. 50
6. Potsdam Conference was held in ………………..
i. 1940 ii. 1945 iii. 1950   iv. 1952
7. Winston Churchill was the British ………………..
i. Governor ii. Senate iii. President iv. Prime Minister
8. The Second World War started in ……………
i.1919 ii.1925    iii. 1939 iv. 1942
9. After the Potsdam Conference Stalin and …………… redrew the map of Europe.
i. Truman ii. Churchill    iii. Roosevelt iv. Hartmann
10. There was …………….. conflict between the super powers.
i. physical ii. political iii. emotional iv. ideological
11. The two powers had a fear of …………… attack.
i. emotional ii. surprise iii. frontal iv. side
12. There was no …………… between the powers.
i. integration ii.management iii. Mutual trust iv. incorporation
13. The two super powers had nearly ……………. Nuclear weapons.
i. 10,000 ii.20,000 iii. 30,000 iv. 50,000
14. Both the powers understood the need to …… final battle.
i. supervised ii. avoid iii. restrained iv. unrestrained
15 The West believed that …………………… path would prevail.
i. liberal ii. Financial iii .democratic capitalism iv.military
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